
Autoevaluación: Operaciones con potencias Hoja 1

Opera y expresa el resultado como una única potencia:

( )−12 3÷( )−3 3 ·53÷23= ( )−12÷( )−3 ·5÷2 3=103
⎯⎯⎯ falso Solucionar

47÷( )−4 2=47÷42=47−2=45 = 1024 Calc

25 ·( )−2 4=25 ·24=25+4=29

( )( )−9 3 8= ( )−9 3 ·8= ( )−9 24=924

( )( )( )3 3 4 5
=33 ·4 ·5=360

25 ·( )−2 3÷25 ·( )( )−2 3 2=25−5 ·( )−2 3 ·( )−2 6=20 ·( )−2 3 ·2=1 ·( )−2 6=26 =

−512=−512=64=64=64 Calc

( )−5 9 ·( )−5 3÷( )52 ·( )−5 3 2= ( )−5 9+3÷52 ·( )−5 3 ·2= ( )−5 12÷52 ·( )−5 6=512÷52 ·56= 512−2+6=

516

⎯⎯⎯ falso Solucionar

( )( )−3 4 3÷( )−33 2 ·32= ( )−3 4 ·3÷( )−36 ·32= ( )−3 12÷( )−36 ·32= ( )−3 12−6 ·32= ( )−3 6 ·32=36 ·32

=36+2=38

⎯⎯⎯ falso Solucionar


